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Division Word Problems
Solve each of these problems:

Jamie has 14 stickers. 
He shares them equally with Toby. 
How many do they get each?

............  ÷  ............  =   ............... stickers.

A teacher has 40 pencils.   
She divides them between 5 different pots. 
How many pencils are there in each pot? 

............  ÷  ............  =   ............... pencils.

A class makes 35 cookies for a bake sale.
They sell them in bags of 5.  
How many bags can they make?  

............  ÷  ............  =   ............... bags.
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Jess has 30 counters. She puts them into 10 groups.  
How many counters are there in each group?  

............  ÷  ............  =   ............... counters.

There are 50 rubbers in the cupboard.
Rubbers come in packs of 10.   
How many packs are there?  

............  ÷  ............  =   .............. packs.

There are 20 children in the class.
The teacher puts them into equal groups.
How many children are in each group?
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Can you find 
more than one 

answer?!
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Division Word Problems
Solve each of these problems:

Jamie has 14 stickers. 
He shares them equally with Toby. 
How many do they get each?

............  ÷  ............  =   ............... stickers.

A teacher has 40 pencils.   
She divides them between 5 different pots. 
How many pencils are there in each pot? 

............  ÷  ............  =   ............... pencils.

A class makes 35 cookies for a bake sale.
They sell them in bags of 5.  
How many bags can they make?  

............  ÷  ............  =   ............... bags.

Answers

14 2 7 

40 5 8 

35 5 7 
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Jess has 30 counters. She puts them into 10 groups.  
How many counters are there in each group?  

............  ÷  ............  =   ............... counters.

There are 50 rubbers in the cupboard.
Rubbers come in packs of 10.   
How many packs are there?  

............  ÷  ............  =   .............. packs.

There are 20 children in the class.
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Can you find 
more than one 

answer?!

Answers

30 10 3 

50 10 5 

20 ÷ 10 = 2
20 ÷ 5 = 4

20 ÷ 2 = 10

20 ÷ 20 = 1

20 ÷ 4 = 5


